100 150 200 250

=1

m

<OX> (M

000,

6001~

400

.................................................

20

30 40 50 60 70 80 90 100
Simulated interactions

m),

< 9 x > for merged vertices (U

Ratio

o
o
o

800

600

400

200

................................................

70 80 90 100
Simulated interactions

60

HEii

150 200 250
Simulated interactions

100

............

.................................

............

.................................

150 200 250
Simulated interactions

100

<0z > (um)

3

2

1

Ratio

0

70 80 90 100
Simulated interactions

50

o
o
o

000

000

000

000

Pl
20740 60 80 100 120 140

Simulated interactions

oy > for merged vertices (um)

<

o

Rati

merged vertiges (Hm).

Ratio

o

N
o
o

N
o
o

[e2]
o
(=)

800

00O

0.95
4

0

4550 55 60 65 70 75 80
Simulated interactions

o
o
o

o
o
o

o
o
o

| ?)

80 100 120 140
Simulated interactions

60



	Contents
	Page 1


